

Board Agenda Item #	Agenda #H – Action Item
Date:	December 8, 2016
То:	Magnolia Board of Directors
From:	Caprice Young, Ed.D., CEO & Superintendent
Staff Lead:	Erdinc Acar, Regional Director
RE:	Chromebook Purchase for Magnolia Science Academy – Santa Ana

# **Proposed Board Recommendation**

I move that the board approve the Chromebook Purchase for Magnolia Science Academy – Santa Ana (MSA-SA) as detailed in the attached quote.

## **Background**

MSA-SA's May approved budget projects 530 students. Current budget assumes 630 students. To maintain one-on-one device to student ratio, additional Chromebooks, carts and licenses are needed. Total of 120 chromebooks, 167 licences and 5 carts will be purchased. Additional licenses and carts will be used for the Chromebooks received from the MSA-SC school. Chromebooks are utilized in the regular classrooms and in intervention programs to support blended learning using our digital curriculum and resources.

The purchases are properly assumed in the updated budget. The expense is over CEO limits of approval and therefore granting Board approval.

PCMG is a board approved vendor for all MPS schools.

# **Budget Implications**

Total cost of purchases is \$32,192.76. The purchases are properly assumed in the current updated budget of MSA-SA

# **How Does This Action Relate/Affect/Benefit All MSAs?**

Blended learning programs are integral part of all MPS schools. Successful practices are being disseminated among all MSAs through home office professional development and support.

# Name of Staff Originator:

Erdinc Acar, Regional Director

# **Attachments**

Quotes from PCMG



Dear RASUL MONOSHEV,

Good news. The quote you requested is ready. Please log in to your Business Direct account to review it now.

### **Quote Details**

Quote Number: 47931487645

Quote Label: REVISED QUOTE FOR SANTA ANA

Status: Pending Approval from Buyer

Quote is valid until: 12/16/2016\*

Company Name: MAGNOLIA PUBLIC SCHOOLS

Customer #: 138630470

Requested by: RASUL MONOSHEV

#### **Billing Address**

MAGNOLIA PUBLIC SCHOOLS 250 E. 1ST STREET SUITE 1500, ACCOUNTS PAYABLE,

LOS ANGELES, CA 90012 Phone Number: 213- 628-3634

#### **Shipping Address**

MSA SANTA ANA RASUL MONOSHEV 2840 WEST 1st ST, SANTA ANA, CA 92703 Phone Number: 213- 628-3634

Shipping (Overweight Ground):

Total:

\$75.00 **\$24,949.15** 

Shipping Method
Overweight Ground

	Product Description	PCMG Part #	Mfr Part #	Qty	Unit Price	Ext. Price	
	Mfr: Lenovo N22 Chromebook 80SF - Celeron N3050 / 1.6 GHz - Chrome OS - 4 GB RAM - 16 GB eMMC - 11.6" 1366 x 768 ( HD ) - HD Graphics - Wi-Fi	13780719	80SF0001US	90	\$159.00	\$14,310.00	
Comment to	Comment to this item: No comment added						
With Region  The Control of the Cont	Mfr: Google Chrome Management Console, Education Perpetual	13400736	CROSSWDIS EDU	90	\$26.00	\$2,340.00	
Comment to	this item: No comment added						
	Mfr: Anywhere Cart SLIM SECURE CHARGING CART 36 BAY 3 SHLV	13752038	AC-SLIM	5	\$1,260.99	\$6,304.95	
Comment to	this item: No comment added						
Comments:					roup Subtotal:	\$22,954.95	
Todd Rankin	: THANKS!				ted Sales Tax:	\$1,649.20	
					CA State Fee:	\$270.00	

\* Promotional pricing is limited to the duration of the specific promotion, and is subject to change.

If you have any questions regarding your order, contact your Account Representative, **Todd Rankin** at **(800)625-5468 Ext 55007** or eMail at **trankin@pcmallgov.com**.

Thanks again for shopping at PCMG Business Direct.

1940 E. Mariposa Ave, El Segundo, CA 90245 - 800-700-1000 ©2016 PCM Sales, Inc.



Dear RASUL MONOSHEV,

Good news. The quote you requested is ready. Please log in to your Business Direct account to review it now.

#### **Quote Details**

Quote Number: 47863684274

Quote Label: REVISED QUOTE SANTA ANA 2
Status: Pending Approval from Buyer

Quote is valid until: 12/08/2016\*

Company Name: MAGNOLIA PUBLIC SCHOOLS

Customer #: 138630470

Requested by: RASUL MONOSHEV

#### **Billing Address**

MAGNOLIA PUBLIC SCHOOLS 250 E. 1ST STREET SUITE 1500, ACCOUNTS PAYABLE,

LOS ANGELES, CA 90012 Phone Number: 213- 628-3634

#### **Shipping Address**

MSA SANTA ANA RASUL MONOSHEV 2840 WEST 1st ST, SANTA ANA, CA 92703 Phone Number: 213- 628-3634

Shipping Method UPS Ground (3-7 days)

	Product Description	PCMG Part #	Mfr Part #	Qty	Unit Price	Ext. Price
	Mfr: Lenovo N22 Chromebook 80SF - Celeron N3050 / 1.6 GHz - Chrome OS - 4 GB RAM - 16 GB eMMC - 11.6" 1366 x 768 ( HD ) - HD Graphics - Wi-Fi	13780719	80SF0001US	30	\$159.00	\$4,770.00
Comment to t	this item: No comment added					
Comment to t	Mfr: Google Chrome Management Console, Education Perpetual this item: No comment added	13400736	CROSSWDIS EDU	30	\$26.00	\$780.00
Comments:				G	roup Subtotal:	\$5,550.00
Todd Rankin:	: THANKS!			Estima	ted Sales Tax:	\$381.61
					CA State Fee:	\$90.00
			S	Shipping (	UPS Ground):	\$0.00
					Total:	\$6,021.61

<sup>\*</sup> Promotional pricing is limited to the duration of the specific promotion, and is subject to change.

If you have any questions regarding your order, contact your Account Representative, **Todd Rankin** at **(800)625-5468 Ext 55007** or eMail at **trankin@pcmallgov.com**.

Thanks again for shopping at PCMG Business Direct.

1940 E. Mariposa Ave, El Segundo, CA 90245 - 800-700-1000 ©2016 PCM Sales, Inc.



Dear RASUL MONOSHEV,

Good news. The quote you requested is ready. Please log in to your Business Direct account to review it now.

#### **Quote Details**

Quote Number: 48044666102

Quote Label: GOOGLE SANTA ANA X47
Status: Pending Approval from Buyer

Quote is valid until: 12/29/2016\*

Company Name: MAGNOLIA PUBLIC SCHOOLS

Customer #: 138630470

Requested by: RASUL MONOSHEV

#### **Billing Address**

MAGNOLIA PUBLIC SCHOOLS 250 E. 1ST STREET SUITE 1500, ACCOUNTS PAYABLE,

LOS ANGELES, CA 90012 Phone Number: 213- 628-3634

#### **Shipping Address**

MSA SANTA ANA RASUL MONOSHEV 2840 WEST 1st ST, SANTA ANA, CA 92703 Phone Number: 213- 628-3634

# **Shipping Method**UPS Ground (3-7 days)

Product Description	PCMG Part #	Mfr Part #	Qty	Unit Price	Ext. Price
Mfr: Google Chrome Management Console, Education Perpetual	13400736	CROSSWDIS EDU	47	\$26.00	\$1,222.00
Comment to this item: No comment added					
Comments:			Gı	roup Subtotal:	\$1,222.00
Todd Rankin: THANKS!			Estimated Sales Tax:		\$0.00
		S	Shipping (l	JPS Ground):	\$0.00
				Total:	\$1,222.00

<sup>\*</sup> Promotional pricing is limited to the duration of the specific promotion, and is subject to change.

If you have any questions regarding your order, contact your Account Representative, **Todd Rankin** at **(800)625-5468 Ext 55007** or eMail at **trankin@pcmallgov.com**.

Thanks again for shopping at PCMG Business Direct.